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The given pie chart shows the percentage distribution of book 

(Maths, Physics, English) out of 8000.
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Question 1- Find the ratio of Maths and Physics books.

प्रश्न 1- गणित और भौणतकी की पसु्तकों का अनपुात ज्ञात कीणिए।

A. 4:3

B. 1:3

C. 2:3

D. 3:4

E. None of these
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Question 2- Find the difference between the Maths books and English 

books.

प्रश्न 2- गणित की पसु्तकों और अंग्रेिी पसु्तकों के बीच अंतर ज्ञात कीणिए।

A. 1800

B. 2800

C. 2400

D. 3300

E. None of these
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Question 3- Find the value of Y.

प्रश्न 3- Y का मान ज्ञात कीणिये

A. 10%

B. 12%

C. 15%

D. 20%

E. None of these
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Question 4- If there are 200 more maths books are included then maths books 

are what percent of total number of Physics books.

प्रश्न 4- यणि गणित की 200 और पसु्तकों को शाणमल णकया िाता ह ैतो गणित की पसु्तकें  भौणतकी

की पसु्तकों की कुल संख्या का णकतना प्रणतशत हैं?

A. 120%

B. 150%

C. 250%

D. 300%

E. None of these
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Question 5- A jar contains milk and water in ratio 4:3. When 16 liter of milk 

added then this ratio becomes 3:2. Instead of adding 16 liter of milk if 32 liter of 

water is added. Then find ratio of milk and water.

प्रश्न 5- एक िार में िधू और पानी का अनपुात 4:3 ह।ै िब 16 लीटर िधू णमलाया िाता ह ैतो यह 

अनपुात 3: 2 हो िाता ह।ै 16 लीटर िधू णमलाने के बिाय यणि 32 लीटर पानी णमलाया िाता ह।ै तो 

िधू और पानी का अनपुात ज्ञात कीणिये। A. 2:1

B. 1:1

C. 3:1

D. 4:1

E. None of these
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Question 6- A person marked the price of an article 40% above the cost price 

and sells the article for Rs 4200 after a discount of 25%. Find his profit 

percentage.

एक व्यणि एक वस्त ुका मलू्य क्रय मलू्य से 40% अणधक अंणकत करता ह ैऔर वस्त ुको 25% 

की छूट के बाि 4200 रुपये में बेचता ह।ै उसका लाभ प्रणतशत ज्ञात कीणिए।

A. 4%

B. 5%

C. 6%

D. 8%

E. None of these
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Question 7- The time taken by a boat 120 km downstream is same as the time 

taken by same boat 56 km in upstream. If the speed of boat is 44 km/hr then find 

the speed of stream.

प्रश्न 7- धारा के अनकूुल 120 णकमी की िरूी पर एक नाव द्वारा णलया गया समय, धारा के प्रणतकूल 56 

णकमी की िरूी पर उसी नाव द्वारा णलए गए समय के समान ह।ै यणि नाव की गणत 44 णकमी/घंटा ह,ै तो 

धारा की गणत ज्ञात कीणिये।

A. 12 km/hr

B. 14 km/hr

C. 16 km/hr

D. 20 km/hr

E. None of these
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Question 8- P, Q and R started a business. P invested Rs 70,000 while Q and R 

invested Rs 50,000 each. After 4 months P withdraw Rs 10,000 while Q and R 

invested Rs 10,000 each. At the end of year total profit is Rs 10,600. Find profit of P.

प्रश्न 8- P, Q और R ने एक व्यवसाय शरुू णकया। P ने 70,000 रुपये का णनवेश णकया िबणक Q और R ने 

प्रत्येक ने 50,000 रुपये का णनवेश णकया। P ने 4 महीने के बाि 10,000 रुपये णनकालने के बाि िबणक Q 

और R प्रत्येक ने 10,000 रुपये का णनवेश णकया। वर्ष के अंत में कुल लाभ 10,600 रुपये ह।ै P का लाभ 

ज्ञात कीणिये।

A. Rs 12,400

B. Rs 13,400

C. Rs 15,400

D. Rs 17400

E. None of these
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Question 9- P spends 60% of his income and saves Rs 4800. If Q’s saving is equal 

to the P’s expense and income of Q is Rs 14,000 then find expense of Q.

प्रश्न 9- P अपनी आय का 60% खचष करता ह ैऔर 4800 रुपये बचाता ह।ै यणि Q की बचत P के 

व्यय के बराबर ह ैऔर Q की आय 14,000 रुपये ह,ै तो Q का व्यय ज्ञात कीणिये।

A. Rs 4800

B. Rs 6800

C. Rs 8800

D. Rs 4800

E. None of these
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Question 10- What will come in place of question mark.

प्रश्न 10- प्रश्न णचह्न के स्थान पर क्या आएगा।

40 × 5 𝑜𝑓 18 ÷ 6 = ?× 10

A. 40

B. 45

C. 55

D. 60

E. None of these
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Question 11- What will come in place of question mark.

प्रश्न 11- प्रश्न णचह्न के स्थान पर क्या आएगा।

40 𝑜𝑓 6 ÷
12

5
= 122 + ?

A. 24

B. 44

C. 34

D. 54

E. None of these
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Question 12- What will come in place of question mark.

प्रश्न 12- प्रश्न णचह्न के स्थान पर क्या आएगा।

1024 + 62 + 36 ÷ 3 = ?

A. 70

B. 40

C. 50

D. 30

E. None of these
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Question 13- What will come in place of question mark.

प्रश्न 13- प्रश्न णचह्न के स्थान पर क्या आएगा।

144 ÷ 144 × 6 = 12 × 3− ?

A. 26

B. 36

C. 46

D. 56

E. None of these
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Question 14- What will come in place of question mark.

प्रश्न 14- प्रश्न णचह्न के स्थान पर क्या आएगा।

192 𝑜𝑓 5 ÷ 16 −?= 484

A. 38

B. 18

C. 28

D. 34

E. None of these
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Question 15- What will come in place of question mark.

प्रश्न 15- प्रश्न णचह्न के स्थान पर क्या आएगा।

216 ÷ 9 + 24 × 120 ÷? = 80

A. 42

B. 56

C. 52

D. 72

E. None of these
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Question 15- What will come in place of question mark.

प्रश्न 15- प्रश्न णचह्न के स्थान पर क्या आएगा।

15% 𝑜𝑓 2500 + 54 ÷ 6 =?

A. 124

B. 224

C. 384

D. 424

E. None of these
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Question 16- Find the wrong number in the given series.

प्रश्न 16- िी गई श्रंखला में गलत संख्या ज्ञात कीणिए।

6, 12, 18, 24, 28, 36

A. 12

B. 18

C. 24

D. 28

E. 36
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Question 17- Find the wrong number in the given series.

प्रश्न 17- िी गई श्रंखला में गलत संख्या ज्ञात कीणिए।

1, 14, 40, 79, 133, 196

A. 14

B. 40

C. 79

D. 133

E. 196
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Question 18- Find the wrong number in the given series.

प्रश्न 18- िी गई श्रंखला में गलत संख्या ज्ञात कीणिए।

2, 3, 7, 16, 32, 55, 93

A. 3

B. 7

C. 16

D. 32

E. 55
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Question 19- 57 of liter of milk has been poured in a jar an it is found 

that the jar is 81% empty. Find the total capacity of jar.

प्रश्न 19- एक िार में 57 लीटर िधू डाला गया ह ैऔर यह पाया गया ह ैणक िार 81% खाली 

ह।ै िार की कुल क्षमता ज्ञात कीणिए।

A. 30 L

B. 40 L

C. 300 L

D. 400 L

E. None of these
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Question 20- A liquid contains 16.67% of milk and rest water. In 360 liter 

of liquid the water will be?

एक तरल में 16.67% िधू और शेर् िल ह।ै 360 लीटर तरल में पानी णकतना होगा?

A. 100 L

B. 150 L

C. 300 L

D. 400 L

E. None of these
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